

Journal of Zhejiang University SCIENCE A
 ISSN 1009-3095 (Print); ISSN 1862-1775 (Online)
 www.zju.edu.cn/jzus; www.springerlink.com
 E-mail: jzus@zju.edu.cn



Projectively flat arctangent Finsler metric*

YU Yao-yong

(Department of Mathematics, Zhejiang University, Hangzhou 310028, China)

E-mail: yuyaoyong@126.com

Received Feb. 20, 2006; revision accepted Aug. 21, 2006

Abstract: In this work, we study a class of special Finsler metrics F called arctangent Finsler metric, which is a special (α, β) -metric, where α is a Riemannian metric and β is a 1-form. We obtain a sufficient and necessary condition that F is locally projectively flat if and only if α and β satisfy two special equations. Furthermore we give the non-trivial solutions for F to be locally projectively flat. Moreover, we prove that such projectively flat Finsler metrics with constant flag curvature must be locally Minkowskian.

Key words: Arctangent Finsler metric, Projectively flat, (α, β) -metric, Flag curvature

doi: 10.1631/jzus.2006.A2097

Document code: A

CLC number: O186

INTRODUCTION

In recent years, significant progress has been made in the study of Finsler metrics which have straight lines in local coordinates (Hamel, 1903). Finsler metrics with this property are called locally projectively flat metrics. An important fact about these metrics is that locally projectively flat Finsler metrics have scalar flag curvature, a natural extension of the sectional curvature in Riemannian geometry. In general, it also depends on the direction (flag pole) in the section (flag), from this it gets the name "flag curvature". It is one of the fundamental problems in Riemann-Finsler geometry to study and characterize Finsler metrics of scalar (or constant) flag curvature. Unlike the Riemannian case, the local metric structure of Finsler metrics of scalar flag curvature is far from being understood. There is an important class of Finsler metrics defined in terms of a Riemannian metric $\alpha = \sqrt{a_{ij}y^i y^j}$ and a 1-form $\beta = b y^i$ (thus called (α, β) -metric). It is relatively easy to carry out the

computation on the geometric quantities of (α, β) -metric. Thus one would like to investigate locally projectively flat (α, β) -metric.

Randers metrics are the simplest non-Riemannian (α, β) -metric. It has been proved that a Randers metric $F = \alpha + \beta$ is locally projectively flat if and only if $d\beta = 0$ and α is locally projectively flat (or equivalently, α is of constant sectional curvature by the Beltrami theorem). Moreover, the local structure of projectively flat Randers metrics of constant flag curvature can be completely determined. See (Shen, 2003) for more details and related references (Bao and Robles, 2003; Bryant, 2002).

Shen and Civi Yildirim (2005) studied a class of special (α, β) -metrics $F = \alpha\phi(s)$, $s = \beta/\alpha$, where $\phi = \phi(s)$ satisfies

$$\phi(s) - s\phi'(s) = (p + rs^2)\phi'(s), \quad (1)$$

where p and r are constants. They found a sufficient condition for $F = \alpha\phi(\beta/\alpha)$ to be projectively flat in a local coordinate system (x^i) , that is, the covariant derivatives b_{ij} of $\beta = b y^i$ with respect to $\alpha = \sqrt{a_{ij}y^i y^j}$ and the spray coefficients of G_α^i of α satisfy

* Project (No. 10571154) supported by the National Natural Science Foundation of China

$$b_{ij} = 2\tau\{(p + b^2)a_{ij} + (r - 1)b_i b_j\}, \tag{2}$$

$$G_\alpha^i = \theta y^i - \tau\alpha^2 b^i, \tag{3}$$

where $b = \sqrt{a_{ij}(x)b^i(x)b^j(x)}$, $\tau = \tau(x)$ is a scalar function and $\theta = \theta_i(x)y^i$ is a 1-form. A natural question arises: Are these conditions necessary?

In this work, we study the above problem for the class of (α, β) -metrics whose defining function $\phi = \phi(s)$ satisfies Eq.(1) with $p=1/2$ and $r=1/2$. In this case, $\phi = 1 + \varepsilon s + \text{arctan}(s)$, where ε is an arbitrary constant. The corresponding metric is expressed in the following form

$$F = \alpha + \varepsilon\beta + \beta \text{arctan}(\beta/\alpha). \tag{4}$$

We call this metric an arctangent metric. We can show that the above conditions are also necessary for arctangent metrics to be projectively flat. More precisely, we prove the following:

Theorem 1 Let $F = \alpha + \varepsilon\beta + \beta \text{arctan}(\beta/\alpha)$ be an arctangent metric on an open subset U in \mathbb{R}^n , where $\alpha = \sqrt{a_{ij}(x)y^i y^j}$ and $\beta = b_i(x)y^i$. F is locally projectively flat in U if and only if α and β satisfy Eq.(2) and Eq.(3) with $p=r=1/2$, i.e.,

$$b_{ij} = \tau\{(1 + 2b^2)a_{ij} - b_i b_j\}, \tag{5}$$

$$G_\alpha^i = \theta y^i - \tau\alpha^2 b^i, \tag{6}$$

where $b = \sqrt{a_{ij}(x)b^i(x)b^j(x)}$, $\tau = \tau(x)$ is a scalar function and $\theta = \theta_i(x)y^i$ is a 1-form.

We also determine the metric structure of locally projectively arctangent metrics with constant flag curvature. They must be locally Minkowskian (see Proposition 1 below).

(α, β) -METRICS

Finsler metric under our consideration is special (α, β) -metric, expressed in the following form:

$$F = \alpha\phi(s), s = \beta/\alpha, \tag{7}$$

where $\alpha = \sqrt{a_{ij}y^i y^j}$ is a Riemannian metric and $\beta = b_i y^i$ is a 1-form. $\phi = \phi(s)$ is a C^∞ positive function on an open interval $(-b_0, b_0)$ satisfying

$$\phi(s) - s\phi'(s) + (b^2 - s^2)\phi''(s) > 0, |s| \leq b \leq b_0. \tag{8}$$

It is known that F is a Finsler metric if and only if $\|\beta_x\|_\alpha < b_0$ for any $x \in M$. Let G^i and G_α^i denote the spray coefficients of F and α , respectively, given by

$$G^i = \frac{g^{ij}}{4} \{ [F^2]_{x^k y^j} y^k - [F^2]_{x^j} \}, \tag{9}$$

$$G_\alpha^i = \frac{a^{ij}}{4} \{ [\alpha^2]_{x^k y^j} y^k - [\alpha^2]_{x^j} \},$$

where $(g^{ij}) := (g_{ij})^{-1}$, $(g_{ij}) := ([F^2]_{y^i y^j} / 2)$ and $(a^{ij}) := (a_{ij})^{-1}$.

We have the following:

Lemma 1 (Chern and Shen, 2005; Shen, 2004) The geodesic coefficients G^i are related to G_α^i by

$$G^i = G_\alpha^i + \alpha Q s_0^i + J \{-2Q\alpha s_0 + r_{00}\} \frac{y^i}{\alpha} + H \{-2Q\alpha s_0 + r_{00}\} \left\{ b^i - s \frac{y^i}{\alpha} \right\}, \tag{10}$$

where

$$Q := \frac{\phi'}{\phi - s\phi'},$$

$$J := \frac{\phi'(\phi - s\phi')}{2\phi((\phi - s\phi') + (b^2 - s^2)\phi'')},$$

$$H := \frac{\phi''}{2((\phi - s\phi') + (b^2 - s^2)\phi'')},$$

$$s = \beta/\alpha, \quad b := \|\beta_x\|_\alpha.$$

Lemma 2 (Shen and Civi Yildirim, 2005) An (α, β) -metric $F = \alpha\phi(s)$, where $s = \beta/\alpha$, is projectively flat on an open subset $U \subset \mathbb{R}^n$ if and only if

$$(a_{mi}\alpha^2 - y_m y_i)G_\alpha^m + \alpha^3 Q s_{i0} + H\alpha \{-2Q\alpha s_0 + r_{00}\} \{b_i \alpha - s y_i\} = 0, \tag{11}$$

where $y_m = a_{mi} y^i$.

ARCTANGENT FINSLER METRIC

In this section, we consider a special (α, β) -metric in the following form:

$$F = \alpha + \varepsilon\beta + \beta \arctan(\beta/\alpha), \tag{12}$$

where $\alpha = \sqrt{a_{ij}y^i y^j}$ is a Riemannian metric and $\beta = b_j y^j$ is a 1-form on M , ε is a constant. Let $b_0 > 0$ be the largest number such that

$$\frac{1 - s^2 + 2b^2}{(1 + s^2)^2} > 0, \quad |s| \leq b < b_0, \tag{13}$$

where b_0 depends on ε such that $1 + \varepsilon s + s \arctan(s) > 0$.

Lemma 3 $F = \alpha + \varepsilon\beta + \beta \arctan(\beta/\alpha)$ is a Finsler metric.

Proof If $F = \alpha + \varepsilon\beta + \beta \arctan(\beta/\alpha)$ is a Finsler metric, then

$$\frac{1 - s^2 + 2b^2}{(1 + s^2)^2} > 0, \quad |s| \leq b < b_0.$$

Let $s = b$, then $\forall b < b_0, 1 + b^2 > 0$.

By Lemma 1,

$$Q := \frac{[\varepsilon + \arctan(\beta/\alpha)](\alpha^2 + \beta^2) + \alpha\beta}{\alpha^2},$$

$$J := \frac{\alpha\{[\varepsilon + \arctan(\beta/\alpha)](\alpha^2 + \beta^2) + \alpha\beta\}}{2[(1 + 2b^2)\alpha^2 - \beta^2]\{\alpha + [\varepsilon + \arctan(\beta/\alpha)]\beta\}},$$

$$H := \frac{\alpha^2}{(1 + 2b^2)\alpha^2 - \beta^2}.$$

Eq.(11) is reduced to the following equation:

$$(a_{ml}\alpha^2 - y_m y_l)G_\alpha^m + \alpha\{[\varepsilon + \arctan(\beta/\alpha)](\alpha^2 + \beta^2) + \alpha\beta\}s_{l_0} + \left\{ -2\alpha^2 \frac{[\varepsilon + \arctan(\beta/\alpha)](\alpha^2 + \beta^2) + \alpha\beta}{(1 + 2b^2)\alpha^2 - \beta^2} s_{l_0} + \frac{\alpha^2 r_{00}}{(1 + 2b^2)\alpha^2 - \beta^2} \right\} (b_l \alpha - s y_l) = 0. \tag{14}$$

Theorem 2 Let $F = \alpha + \varepsilon\beta + \beta \arctan(\beta/\alpha)$ be a Finsler metric on a manifold M . F is locally projectively flat if and only if

$$(a) \quad b_{ij} = \tau\{(1 + 2b^2)a_{ij} - b_i b_j\},$$

$$(b) \quad G_\alpha^i = \theta y^i - \tau\alpha^2 b^i,$$

where $\tau = \tau(x)$ and $\theta = \theta_i(x)y^i$. In this case,

$$G^i = (\theta + \tau\chi\alpha)y^i, \tag{15}$$

where

$$\chi = \frac{\varepsilon + \arctan(s)}{2\{1 + [\varepsilon + \arctan(s)]s\}}, \quad s = \beta/\alpha.$$

Proof If F is projectively flat, we rewrite Eq.(14) as a polynomial in y^i and α , which is linear in α . This gives

$$[(1 + 2b^2)\alpha^2 - \beta^2](a_{ml}\alpha^2 - y_m y_l)G_\alpha^m + \alpha[(1 + 2b^2)\alpha^2 - \beta^2]\{[\varepsilon + \arctan(\beta/\alpha)](\alpha^2 + \beta^2) + \alpha\beta\}s_{l_0} - 2\alpha^2\{[\varepsilon + \arctan(\beta/\alpha)](\alpha^2 + \beta^2) + \alpha\beta\}(b_l \alpha - s y_l)s_{l_0} + \alpha^3 r_{00}(b_l \alpha - s y_l) = 0. \tag{16}$$

Case 1 Assume that $\varepsilon \neq 0$. Replace y with $-y$, to get

$$[(1 + 2b^2)\alpha^2 - \beta^2](a_{ml}\alpha^2 - y_m y_l)G_\alpha^m - \alpha[(1 + 2b^2)\alpha^2 - \beta^2]\{[\varepsilon - \arctan(\beta/\alpha)](\alpha^2 + \beta^2) - \alpha\beta\}s_{l_0} + 2\alpha^2\{[\varepsilon - \arctan(\beta/\alpha)](\alpha^2 + \beta^2) - \alpha\beta\}(b_l \alpha - s y_l)s_{l_0} + \alpha^3 r_{00}(b_l \alpha - s y_l) = 0. \tag{17}$$

From Eqs.(16) and (17), we get

$$2\varepsilon\alpha[(1 + 2b^2)\alpha^2 - \beta^2](\alpha^2 + \beta^2)s_{l_0} - 4\varepsilon\alpha^2(\alpha^2 + \beta^2)(b_l \alpha - s y_l)s_{l_0} = 0, \tag{18}$$

namely

$$[(1 + 2b^2)\alpha^2 - \beta^2]s_{l_0} - 2s_{l_0}(b_l \alpha - \beta y_l) = 0. \tag{19}$$

Contracting Eq.(19) with b^l yields

$$(\alpha^2 + \beta^2)s_{l_0} = 0, \tag{20}$$

we get $s_{l_0} = 0$. Then it follows from Eq.(19) that

$$s_{l_0} = 0. \tag{21}$$

Thus β is closed.

Case 2 $\varepsilon=0$, Eq.(16) becomes

$$\begin{aligned} & [(1+2b^2)\alpha^2 - \beta^2](a_m\alpha^2 - y_m y_l)G_\alpha^m + \alpha[(1+2b^2)\alpha^2 \\ & - \beta^2][(\alpha^2 + \beta^2) \arctan(\beta/\alpha) + \alpha\beta]s_{l_0} \\ & - 2\alpha^2[(\alpha^2 + \beta^2) \arctan(\beta/\alpha) + \alpha\beta](b_l\alpha - sy_l)s_{l_0} \\ & + \alpha^3 r_{00}(b_l\alpha - sy_l) = 0. \end{aligned} \tag{22}$$

Contracting Eq.(22) with b^l yields

$$\begin{aligned} & [(1+2b^2)\alpha^2 - \beta^2](b_m\alpha^2 - \beta y_m)G_\alpha^m \\ & + \alpha^2 r_{00}(b^2\alpha^2 - \beta^2) - \alpha^2\beta(\alpha^2 + \beta^2)s_{l_0} \\ & = \alpha(\alpha^2 + \beta^2)^2 s_{l_0} \arctan(\beta/\alpha). \end{aligned} \tag{23}$$

Using Taylor expansion of $\arctan(\beta/\alpha)$, we can find that the left side of Eq.(23) is an integral expression in y and the right side of Eq.(23) is a fractional expression in y , we get $s_{l_0}=0$.

Then it follows from Eq.(22) that

$$s_{l_0} = 0. \tag{24}$$

Thus β is closed.

By Case 1 and Case 2, we get β is closed. Now Eq.(16) is reduced to the following

$$\begin{aligned} & [(1+2b^2)\alpha^2 - \beta^2](a_m\alpha^2 - y_m y_l)G_\alpha^m \\ & = -\alpha^2 r_{00}(b_l\alpha^2 - \beta y_l). \end{aligned} \tag{25}$$

Contracting Eq.(25) with b^l yields

$$\begin{aligned} & [(1+2b^2)\alpha^2 - \beta^2](b_m\alpha^2 - \beta y_m)G_\alpha^m \\ & = -\alpha^2 r_{00}(b^2\alpha^2 - \beta^2). \end{aligned} \tag{26}$$

Note that the polynomial $(1+2b^2)\alpha^2 - \beta^2$ is not divisible by α^2 and $b^2\alpha^2 - \beta^2$, thus $(b_m\alpha^2 - \beta y_m)G_\alpha^m$ is divisible by $\alpha^2 r_{00}(b^2\alpha^2 - \beta^2)$. Therefore, there is a scalar function $\tau=\tau(x)$ such that

$$r_{00} = \tau[(1+2b^2)\alpha^2 - \beta^2]. \tag{27}$$

By Eqs.(24) and (27), Eq.(10) for G^i can be simplified to

$$G^i = G_\alpha^i + \tau\chi\alpha y^i + \tau\alpha^2 b^i, \tag{28}$$

where

$$\chi = \frac{\varepsilon + \arctan(s)}{2\{1 + [\varepsilon + \arctan(s)]s\}}, \quad s = \beta/\alpha.$$

We know that F is projectively flat if and only if

$$G^i = P y^i.$$

By Eq.(28), this is equivalent to the following

$$G_\alpha^i = \theta y^i - \tau\alpha^2 b^i,$$

where $\theta=i(x)y^i$ is a 1-form. This proves Theorem 2.

FLAG CURVATURE

In this section, we shall study the following metric with constant flag curvature $K=\lambda$,

$$F = \alpha + \varepsilon\beta + \beta\arctan(\beta/\alpha),$$

where ε is constant. We assume F is locally projectively flat so that in a local coordinate system the spray coefficients of F are in the form Eq.(15). It is known that if the spray coefficients of F are in the form $G^i = P y^i$, then F has scalar curvature with flag curvature

$$K = (P^2 - P_{x^k} y^k) / F^2.$$

Then

$$\begin{aligned} K = & [\theta^2 - \theta_{x^k} y^k + \tau^2 \chi^2 \alpha^2 - \chi \tau_\alpha \alpha \\ & - \tau^2 (s^2 + 1) \chi' \alpha^2 + 2s\tau^2 \chi \alpha^2] / F^2. \end{aligned} \tag{29}$$

Observe that

$$s_{x^k} y^k = \tau(s^2 + 1)\alpha, \quad \alpha_{x^k} y^k = 2(\theta - \tau\beta)\alpha.$$

Lemma 4 Suppose that $F = \alpha + \varepsilon\beta + \beta\arctan(\beta/\alpha)$ is projectively flat with constant flag curvature $K=\lambda$, then $\lambda=0$.

Proof First by Eq.(29), the $K=\lambda$ multiplied by $4F^4$ becomes

$$\begin{aligned}
 &(\theta^2 - \theta_{x^k} y^k)[8\varepsilon\alpha + 8\alpha \arctan(\beta/\alpha) \\
 &+ 4\beta \arctan^2(\beta/\alpha)]\beta + 6\tau^2\alpha^4\varepsilon \arctan(\beta/\alpha) \\
 &- 2\varepsilon^2\tau_0\alpha^2\beta - 2\tau_0\alpha^2\beta \arctan^2(\beta/\alpha) + 6\varepsilon^2\tau^2\alpha^2\beta^2 \\
 &+ 6\tau^2\alpha^2\beta^2 \arctan^2(\beta/\alpha) + 4\tau^2\alpha^3\beta\varepsilon \\
 &+ 4\tau^2\alpha^3\beta \arctan(\beta/\alpha) + 4(\theta^2 - \theta_{x^k} y^k)\varepsilon^2\beta^2 \\
 &+ 3\tau^2\alpha^4\varepsilon^2 + 3\tau^2\alpha^4 \arctan^2(\beta/\alpha) - 2\tau_0\alpha^3\varepsilon \\
 &- 2\tau_0\alpha^3 \arctan(\beta/\alpha) + 4(\theta^2 - \theta_{x^k} y^k)\alpha^2 - 2\tau^2\alpha^4 \\
 &+ 8(\theta^2 - \theta_{x^k} y^k)\varepsilon\beta^2 \arctan(\beta/\alpha) \\
 &- 4\tau_0\alpha^2\beta\varepsilon \arctan(\beta/\alpha) + 12\tau^2\alpha^2\beta^2\varepsilon \arctan(\beta/\alpha) \\
 &= 4\lambda[\alpha + \varepsilon\beta + \beta \arctan(\beta/\alpha)]^4. \tag{30}
 \end{aligned}$$

Replacing y with $-y$, we get

$$\begin{aligned}
 &-(\theta^2 - \theta_{x^k} y^k)[8\varepsilon\alpha + 8\alpha \arctan(\beta/\alpha) \\
 &- 4\beta \arctan^2(\beta/\alpha)]\beta - 6\tau^2\alpha^4\varepsilon \arctan(\beta/\alpha) \\
 &- 2\varepsilon^2\tau_0\alpha^2\beta + 2\tau_0\alpha^2\beta \arctan^2(\beta/\alpha) + 6\varepsilon^2\tau^2\alpha^2\beta^2 \\
 &+ 6\tau^2\alpha^2\beta^2 \arctan^2(\beta/\alpha) - 4\tau^2\alpha^3\beta\varepsilon \\
 &+ 4\tau^2\alpha^3\beta \arctan(\beta/\alpha) + 4(\theta^2 - \theta_{x^k} y^k)\varepsilon^2\beta^2 + 3\tau^2\alpha^4\varepsilon^2 \\
 &+ 3\tau^2\alpha^4 \arctan^2(\beta/\alpha) + 2\tau_0\alpha^3\varepsilon - 2\tau_0\alpha^3 \arctan(\beta/\alpha) \\
 &+ 4(\theta^2 - \theta_{x^k} y^k)\alpha^2 - 8(\theta^2 - \theta_{x^k} y^k)\varepsilon\beta^2 \arctan(\beta/\alpha) \\
 &- 2\tau^2\alpha^4 + 4\tau_0\alpha^2\beta\varepsilon \arctan(\beta/\alpha) \\
 &- 12\tau^2\alpha^2\beta^2\varepsilon \arctan(\beta/\alpha) \\
 &= 4\lambda[\alpha - \varepsilon\beta + \beta \arctan(\beta/\alpha)]^4. \tag{31}
 \end{aligned}$$

From Eq.(30)+Eq.(31), we get

$$\begin{aligned}
 &8\lambda(\beta^4/\alpha) \arctan^3(\beta/\alpha) + 24\lambda\beta^3 \arctan^2(\beta/\alpha) \\
 &+ [6\tau^2\alpha\beta^2 + 3\tau^2\alpha^3 - 24\lambda\alpha\beta^2 + 4(\theta^2 - \theta_{x^k} y^k)\beta^2/\alpha \\
 &- 2\tau_0\alpha\beta - 8\lambda(\beta^4/\alpha)\varepsilon^2] \arctan(\beta/\alpha) \\
 &= 4(\theta^2 - \theta_{x^k} y^k)\beta + 2\tau\alpha^2\beta - \tau_0\alpha^2 - 8\lambda\alpha^2\beta - 8\lambda\beta^3\varepsilon^2. \tag{32}
 \end{aligned}$$

Using Taylor expansion of $\arctan(\beta/\alpha)$, we can find that the right side of Eq.(32) is an integral expression in y and the left side of Eq.(32) is a fractional expression in y , so that we get

$$\begin{aligned}
 &8\lambda(\beta^4/\alpha) \arctan^3(\beta/\alpha) + 24\lambda\beta^3 \arctan^2(\beta/\alpha) \\
 &+ [6\tau^2\alpha\beta^2 + 3\tau^2\alpha^3 - 24\lambda\alpha\beta^2 + 4(\theta^2 - \theta_{x^k} y^k)\beta^2/\alpha \\
 &- 2\tau_0\alpha\beta - 8\lambda(\beta^4/\alpha)\varepsilon^2] \arctan(\beta/\alpha) = 0. \tag{33}
 \end{aligned}$$

From Eq.(33)/ $\arctan(\beta/\alpha)$, we get

$$\begin{aligned}
 &8\lambda(\beta^4/\alpha) \arctan^2(\beta/\alpha) + 24\lambda\beta^3 \arctan(\beta/\alpha) \\
 &= -6\tau^2\alpha\beta^2 - 3\tau^2\alpha^3 + 24\lambda\alpha\beta^2 - 4(\theta^2 - \theta_{x^k} y^k)\beta^2/\alpha \\
 &+ 2\tau_0\alpha\beta + 8\lambda(\beta^4/\alpha)\varepsilon^2. \tag{34}
 \end{aligned}$$

For the same reason,

$$\lambda(\beta/\alpha) \arctan(\beta/\alpha) = -3\lambda,$$

thus $\lambda=0$.

Proposition 1 Let $F=\alpha+\varepsilon\beta+\beta\arctan(\beta/\alpha)$ be projectively flat with zero flag curvature, then α is flat metric and β is parallel. In this case, F is locally Minkowshian.

Proof Under the assumption that $K=0$, use the same method as Lemma 4, we obtain

$$\begin{aligned}
 &[3\tau^2\alpha^4/2 + 3\tau^2\alpha^2\beta^2 + 2(\theta^2 - \theta_{x^k} y^k)\beta^2 - \tau_0\alpha^2\beta] \\
 &\cdot \arctan^2(\beta/\alpha) + [2\tau^2\alpha^3\beta - \tau_0\alpha^3 + 4(\theta^2 - \theta_{x^k} y^k)\alpha\beta] \\
 &\cdot \arctan(\beta/\alpha) + 3\tau^2\alpha^4\varepsilon^2/2 + 2(\theta^2 - \theta_{x^k} y^k)(\varepsilon^2\beta^2 + \alpha^2) \\
 &- \varepsilon^2\tau^2\alpha^4 - \tau_0\alpha^2\beta + 3\varepsilon^2\tau^2\alpha^2\beta^2 = 0.
 \end{aligned}$$

Using Taylor expansion of $\arctan(\beta/\alpha)$, we get

$$3\tau^2\alpha^4/2 + 3\tau^2\alpha^2\beta^2 - \tau_0\alpha^2\beta + 2(\theta^2 - \theta_{x^k} y^k)\beta^2 = 0, \tag{35}$$

$$2\tau^2\alpha^3\beta - \tau_0\alpha^3 + 4(\theta^2 - \theta_{x^k} y^k)\alpha\beta = 0. \tag{36}$$

From Eq.(35) $\times(\alpha/\beta)$ -Eq.(36), we get

$$\tau^2(3\alpha^2/2 + \beta^2)\alpha^2/\beta = 2(\theta^2 - \theta_{x^k} y^k)\beta. \tag{37}$$

From Eq.(37) $\times\beta$, we get

$$\tau^2(3\alpha^2/2 + \beta^2)\alpha^2 = 2(\theta^2 - \theta_{x^k} y^k)\beta^2. \tag{38}$$

Note that β^2 is not divisible by $3\alpha^2/2+\beta^2$ and α^2 . Thus $\tau=0$. In this case,

$$b_{ij} = 0, \quad G^i = G^i_\alpha = \theta y^i.$$

By Lemma 4, F has zero flag curvature, so α has zero sectional curvature and α is locally isometric to

the Euclidean metric. Namely, α is flat metric and β is parallel. In this case, F is locally Minkowshian.

SOLUTIONS

In this section, we assume $F=\alpha+\varepsilon\beta+\beta\arctan(\beta/\alpha)$ is projectively flat. By Theorem 2,

$$b_{ij} = \tau\{(1 + 2b^2)a_{ij} - b_i b_j\}, \tag{39}$$

$$G_\alpha^i = \theta y^i - \tau\alpha^2 b^i, \tag{40}$$

we are going to find special solutions of Eq.(39) and Eq.(40) such that $\tau\beta$ is closed. The idea is similar to that of Mo *et al.*(2006) and Shen (2006). We only consider the case that $\tau \neq 0$, since $\tau=0$ is trivial.

Assume that $\tau\beta$ is closed, i.e. locally, there is a scalar function $\rho=\rho(x)$ such that

$$\tau b_i = \rho_{x^i} / 2. \tag{41}$$

Since, by Eq.(39), β is closed, we may let $\beta=\sigma_0/2$, where $\sigma=\sigma(x)$ is a scalar function and $\sigma_0 := \sigma_{x^i} y^i$.

Let $\alpha := e^\rho \bar{\alpha}$, where

$$\bar{\alpha} := \sqrt{|y|^2 + \mu(|x|^2 |y|^2 - \langle x, y \rangle^2)} / (1 + \mu |x|^2). \tag{42}$$

We have

$$2\tau\beta = \tau\sigma_0 = \rho_0, \tag{43}$$

where $\rho_0 := \rho_{x^i} y^i$.

The spray coefficients of α are given by

$$\begin{aligned} G_\alpha^i &= G_{\bar{\alpha}}^i + \rho_0 y^i - \bar{\alpha}^{ij} \rho_{x^j} \bar{\alpha}^2 / 2 \\ &= \{-\mu \langle x, y \rangle / (1 + \mu |x|^2) + \rho_0\} y^i - \bar{\alpha}^{ij} \rho_{x^j} \bar{\alpha}^2 / 2. \end{aligned} \tag{44}$$

Thus Eq.(40) is satisfied.

Now, by using the method of Shen (2006), we are going to solve Eq.(39). Since β is closed, $r_{00}=b_{00}$. By Eq.(43) and Eq.(44), we get

$$\begin{aligned} r_{00} &= \frac{\partial b_i}{\partial x^j} y^i y^j - 2b_i G_\alpha^i \\ &= \sigma_{00} / 2 - \sigma_0 \{-\mu \langle x, y \rangle / (1 + \mu |x|^2) \\ &\quad + \tau\sigma_0\} + 2\tau b^2 \alpha^2. \end{aligned} \tag{45}$$

Then Eq.(39) is equivalent to the following equation:

$$\sigma_{00} + 2\sigma_0 \mu \langle x, y \rangle / (1 + \mu |x|^2) = 2\tau\alpha^2 + 3\tau\sigma_0^2 / 2. \tag{46}$$

We assume that $\rho=\rho(x)$ and $\sigma=\sigma(x)$ are defined by a common function $h=h(x)$ in the following form

$$\rho=\rho(h), \quad \sigma=\sigma(h). \tag{47}$$

Then Eq.(43) is equivalent to $\tau\sigma'=\rho'$.

Eq.(46) is reduced to

$$\begin{aligned} h_{00} + 2h_0 \mu \langle x, y \rangle / (1 + \mu |x|^2) \\ = 2\rho' e^{2\rho} \bar{\alpha}^2 / (\sigma')^2 + (3\rho' / 2 - \sigma'' / \sigma') h_0^2. \end{aligned} \tag{48}$$

We need the following lemma:

Lemma 5 (Shen, 2006) Let

$$h = \frac{C_1 + \langle a, x \rangle + \theta |x|^2 / (1 + \sqrt{1 + \mu |x|^2})}{\sqrt{1 + \mu |x|^2}}, \tag{49}$$

where θ and C_1 are any constant and $a \in \mathbb{R}^n$ is a constant vector. Then h satisfies

$$h_{00} + 2h_0 \mu \langle x, y \rangle / (1 + \mu |x|^2) = (\theta - \mu h) \bar{\alpha}^2. \tag{50}$$

Comparing Eq.(48) and Eq.(50), we see that if σ satisfies

$$3\rho' / 2 - \sigma'' / \sigma' = 0, \tag{51}$$

$$2\rho' e^{2\rho} / (\sigma')^2 = \theta - \mu h, \tag{52}$$

then Eq.(48) holds.

From Eq.(51), we have

$$\sigma' = 2C_2 e^{3\rho/2}, \tag{53}$$

where C_2 is a positive constant. Then, putting Eq.(53) into Eq.(52). We can get

$$\rho' = 2C_2^2(\theta - \mu h)e^\rho. \tag{54}$$

Solve this equation to get

$$\rho = -\ln[4C_2^2(\mu h^2 - 2\theta h - C_3)], \tag{55}$$

where C_3 is a positive constant. Thus, we get

Theorem 3 Let $F = \alpha + \varepsilon\beta + \beta \arctan(\beta/\alpha)$ be a Finsler metric, where ε is a constant. Let $\rho := \rho(x)$ and $h := h(x)$ be as follow:

$$\rho = -\ln[4C_2^2(\mu h^2 - 2\theta h - C_3)],$$

$$h = \frac{C_1 + \langle a, x \rangle + \theta |x|^2 / (1 + \sqrt{1 + \mu |x|^2})}{\sqrt{1 + \mu |x|^2}},$$

where $C_1, C_2 > 0, C_3, \mu$ and θ are constants, and $a \in \mathbb{R}^n$ is a constant vector. Define

$$\alpha := e^\rho \bar{\alpha}, \quad \beta := C_2 e^{3\rho/2} h_0,$$

where

$$\bar{\alpha} := \sqrt{|y|^2 + \mu(|x|^2|y|^2 - \langle x, y \rangle^2) / (1 + \mu |x|^2)}.$$

Then $F = \alpha + \varepsilon\beta + \beta \arctan(\beta/\alpha)$ is projectively flat.

ACKNOWLEDGEMENT

The problem (to study and study arctangent

Finsler metrics which are projectively flat) was suggested by Professor Z. Shen to the author. The author wishes to express here his sincere gratitude to Professor Z. Shen and Professor Yibing Shen for invaluable suggestions and encouragement.

References

Bao, D., Robles, C., 2003. On Randers metrics of constant flag curvature. *Reports on Mathematical Physics*, **51**(1):9-42. [doi:10.1016/S0034-4877(03)80002-2]

Bryant, R., 2002. Some remarks on Finsler manifolds with constant flag curvature. *Houston J. Math.*, **28**(2):221-262.

Chern, S.S., Shen, Z., 2005. Riemann-Finsler Geometry. World Scientific, p.53.

Hamel, G., 1903. Über die Geometrien in denen die Geraden die kürzestensind. *Math. Ann.*, **57**(2):231-264. [doi:10.1007/BF01444348]

Mo, X., Shen, Z., Yang, C., 2006. Some constructions of projectively flat Finsler metric. *Science in China-Series A: Mathematics*, **49**(5):703-714. [doi:10.1007/s11425-006-0703-7]

Shen, Y.B., Zhao, L.L., 2006. Some projectively flat (α, β) -metrics. *Science in China-Series A: Mathematics*, **49**(6):838-851. [doi:10.1007/s11425-006-0838-6]

Shen, Z., 2003. Projectively flat Randers metrics of constant curvature. *Math. Ann.*, **325**(1):19-30. [doi:10.1007/s00208-002-0361-1]

Shen, Z., 2004. Landsberg Curvature, S-Curvature and Riemann Curvature, in a Sampler of Riemann-Finsler Geometry. MSRI Series Vol. 50, Cambridge University Press, p.303-355.

Shen, Z., 2006. On Some Projectively Flat Finsler Metrics. [Http://www.math.iupui.edu/~zshen/Research/papers/ConstructionsOfProjectivelyFlatMetrics.pdf](http://www.math.iupui.edu/~zshen/Research/papers/ConstructionsOfProjectivelyFlatMetrics.pdf).

Shen, Z., Civi Yildirim, G., 2005. On a class of projectively flat metrics of constant flag curvature. *Canadian Journal of Math.* (in Press). [Http://www.math.iupui.edu/~zshen/Research/papers/ProjectivelyFlatMetricsShenYildirim.pdf](http://www.math.iupui.edu/~zshen/Research/papers/ProjectivelyFlatMetricsShenYildirim.pdf).